Ohm’s Law Practice!   
Name _____KEY____________________________________

Using Ohm’s Law, calculate the missing value (E, I, or R) for each of the following circuits:

1. R = 100 Ω, I = 10 a, E = ____1000 volt_______________

2. I = 4 a, E = 120 v, R = ____30 ohms________________

3. E = 75 v, R = 25 Ω, I = ____3 amps________________

4. A source of __75000_______ volts is required to create a current of 1.5 amps through a 50KΩ resistor.

5. A current of __2 ma____ amps will be present when a 36 volt supply is connected to a 72 KΩ resistance.

6. A source of 1200 millivolts is applied to a resistance of 36 KΩ. The current produced will be equal to __33.33 µa______.

7. A resistance value of 3.6 KΩ has a current value equal to 25 µa. The supply voltage must be ____.09 volts________.

8. A voltage source of ____28.8 volts_________ is required to produce 120µa through a 240 KΩ resistance.

9. A resistance of 4MΩ connected across an 80 volt source would generate a current of ____20 µa_______.

10. A generator produces 7 kV at a current rating of 7 amps. What is the load resistance across the generator? ______1 kΩ________________

11. A 6 volt source connected across a 2400 Ω resistance will result in a current of  2.5 ma________.

12. What current will be produced with an 800 Ω resistance connected across a 12 volt source? _____15 ma_____________

13. A voltage of ____9_____________ is required to produce .000015 amps when connected to a 600,000 Ω resistance.

14. A current of 5µa through a 20 MΩ resistor will require a ___100__________ voltage source.
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